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QUESTION 1

An administrator installs IBM WebSphere Application Server and an HTTP server, but when configuring the
environment, the administrator finds that the WebSphere Plug-in is missing. 

Which tool can be used to fix this issue? 

A. Customization Tool Box 

B. IBM Installation Manager 

C. Profile Management Tool 

D. Integrated Solutions Console 

Correct Answer: D 

In the WebSphere Integrated Solutions Console, the web server is represented as a specific server type, and you can
view or modify all of the configuration properties used in the plugin-cfg.xml file for the web server plug-in from the
WebSphere Integrated Solutions Console. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSHRKX_8.0.0/plan/plan_ihs.html 

 

QUESTION 2

Which type of security restricts access to the operating system from applications? 

A. Java 2 security 

B. Application security 

C. Security constraints 

D. Administrative security 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSPREK_7.0.0/com.ibm.isam.doc_70/
ameb_audit_guide/task/tsk_WAS_global_security.html 

 

QUESTION 3

Which is a true statement regarding flexible management and the Job Manager? 

A. Flexible management requires a secure proxy server. 

B. A deployment manager can be registered with a Job Manager. 

C. Flexible management is a replacement for a Network Deployment cell. 

D. The Job Manager also maintains a master repository for the environment. 
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Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/tagt_jobmgr_register_dmgr.html 

 

QUESTION 4

What is one way to determine if administrative security for IBM WebSphere Application Server is disabled when logging
into the Integrated Solutions Console? 

A. A user is not forced to use HTTPS (SSL). 

B. An administrator is allowed to type any random password. 

C. An administrator is prompted for user name, but not password. 

D. When the username wasadmin is used to log in, the password used is the default "password". 

Correct Answer: C 

Congratulations! You have successfully manually disabled Global Security for your IBM WebSphere Application Server
instance. You should now be able to access the WAS Integrated Solutions Console (ISC) without having to specify a
password. 

Reference: http://www-01.ibm.com/support/docview.wss?uid=nas8N1012744 

 

QUESTION 5

What are two differences between dynamic clusters and static clusters? (Choose two.) 

A. Dynamic Workload Management is enabled by default in dynamic clusters. 

B. The application placement controller can start and stop a dynamic cluster that is in automatic mode only. 

C. Using the autonomic request flow manager (ARFM) in manual mode will not affect dynamic cluster mode. 

D. Using static clusters in an Intelligent Management enabled environment will acquire some of a dynamic cluster
features. 

E. When creating a static cluster using an application server template, any changes made to the template after creating
the instances do not change the instances. 

Correct Answer: AE 

A: The dynamic workload manager is enabled by default and assigns weights to the application server instances. 

E: When you define a static cluster, you can select an application server template on which to base all the application
server instances that you create. However, any changes that you make to the template after creating the instances do
not change the instances. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.5/
com.ibm.websphere.nd.multiplatform.doc/ae/cwve_xdovrvw.html 
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